There is at most one solution to

 $\begin{cases} u_t - k u_{xx} = f(x,t) & x_0 \le x \le x_1, t > t_0 \\ u(x,t_0) = \phi(x) & x_0 \le x \le x_1 \\ u(x_0,t) = g(t) & u(x_1,t) = h(t) & t > t_0 \end{cases}$ 

where f, \$, g, h are given functions.



Since 
$$M$$
, and  $M_2$  have the same boundary  
and initial conditions, their difference  
 $W = M_1 - M_2$  has homogeneous Disichlet  
boundary + initial conditions, i.e. 0;

$$\begin{cases} w_{t}-k_{W_{XX}} = 0 & x_{0} \leq x \leq x_{1} \quad t \geq t_{0} \\ w_{1}(x, t_{0}) = 0 & x_{0} \leq x \leq x_{1} \\ w_{1}(x_{0}, t) = w_{1}(x_{1}, t) = 0 \quad t \geq t_{0} \end{cases}$$



Prof 2: Define 
$$v$$
 as before. Then  
 $w_t - k w_{xx} = 0$ .  
Multiply this by  $w$ : — This strategy is called the  
 $0 = w \cdot w_t - k w \cdot w_{xx}$   
 $= \frac{1}{2} (w^2)_t - k (w_x w)_x + k w_x^2$   
Tubegrete  $i = x$  to get:

$$0 = \int_{x_{0}}^{x_{1}} \left[ \frac{1}{2} \left( W_{k}, H^{2} \right)_{t} - k \left( W_{x}(k, t) W_{k}, t \right) \right]_{x}^{x_{1}} + k W_{x}(x, t)^{2} \right] dx$$
  

$$= \int_{x_{0}}^{x_{1}} \frac{1}{2} \left( W(x, t)^{2} \right)_{t} dx - k \left[ W_{x}(k, t) W_{k}(t) \right]_{x=x_{0}}^{x_{1}} + k \int_{x_{0}}^{x_{1}} W_{x}(t, t)^{2} dx$$
  

$$= \frac{d}{dt} \int_{x_{0}}^{x_{1}} \frac{1}{2} W_{k}(t, t)^{2} dx = k \left[ W_{x}(x_{1}, t) W_{k}(t, t)^{2} - W_{x}(x_{0}, t) W_{k}(t, t) \right]_{t}^{x_{0}}$$

So we have:  $O = dt \int_{x_0}^{x_1} \frac{1}{2} W(x,t)^2 dx + K \int_{x_0}^{x_1} W_x(x,t)^2 dx$ 

so this term is O

Hence:  $dt \int_{x_0}^{x_1} \frac{1}{2} u(x,t)^2 dx = -k \int_{x_0}^{x_1} w_x (x,t)^2 dx \leq 0$ 

So  $\int_{x_0}^{x_1} \frac{1}{2} W(x,t)^2 dx$  is a decreasing function of time.

But  $\int_{x_0}^{x_1} \frac{1}{2} w(x_1 + 0)^2 dx = \int_{x_0}^{x_1} \frac{1}{2} \cdot 0^2 dx = 0$ . So  $W \equiv 0$  identically.

We now consider: 
$$\begin{cases} u_t - k u_{xx} = 0 & x_{xx} < t > t_0 \\ u_t(x_0, t) = u_t(x_1, t) = 0 & t > t_0 \end{cases}$$

and want to compare u, uz that have \$1,\$2 initially.



Proof: From the energy method we saw that  $w=u,-u_2$ satisfies that  $\int_{x_0}^{x_1} w(x,t)^2 dx$  is a decreasing function of time. In particular:

$$\int_{x_{o}}^{x_{1}} \left[ \mathcal{U}_{1}(x,t) - \mathcal{U}_{2}(x,t) \right]^{2} = \int_{x_{o}}^{x_{1}} w(x,t)^{2} dx$$
  
$$\leq \int_{x_{o}}^{x_{1}} w(x,t)^{2} dx = \int_{x_{o}}^{x_{0}} \left[ \phi_{1}(x) - \phi_{2}(x) \right]^{2} dx.$$

$$\begin{split} & \underbrace{\operatorname{row}}_{1}(\mathsf{x},\mathsf{t}) - \operatorname{re}_{2}(\mathsf{x},\mathsf{t}) &\leq \operatorname{\operatorname{row}}_{\mathbf{x}}(\mathsf{x},\mathsf{t}) - \varphi_{2}(\mathsf{x}) \\ & \underset{\mathsf{x}\in(\mathsf{x}_{0},\mathsf{x}_{0})}{\operatorname{row}} \mid \varphi_{1}(\mathsf{x}) - \varphi_{2}(\mathsf{x}) \\ & \underset{\mathsf{x}\in(\mathsf{x},\mathsf{x})}{\operatorname{row}} \mid \varphi_{1}(\mathsf{x}) - \varphi_{2}(\mathsf{x}) \\ & \underset{\mathsf{x}\in(\mathsf{x},\mathsf{x})}{\operatorname{row}}$$

Hence: 
$$x \in (x_0, x_1) | u_1(x, t) - u_2(x, t) | \leq x \in (x_0, x_1) | \phi_1(x) - \phi_2(x) |$$